0000000 *7(matrix representation) 000 000

vV — o w

dl K
4]

0 11.15. D0000000000000L(V,W) M, ,(K)0OODO

00000000 (D0 95000000000)00000DODO0O0O00ODDOO0OODODOO0OODOOOO
gooog

00 11.17. 0000000000000 D0O0O0 ¢: VW OOOOOdim¢(V)=dimV — dimker ¢.
O000e¢ 0000000 DO00D00000 dmW =dimV —dimkergp 0000

0 11.18. dimV =dimW <oco O0O00O0O00O0O

(i) ¢ 000 (kerd = {0})0
(i) 0ODO (W =g(V))O
(iii) ¢ 00000

0 11.16. (1) 00000000

goboobobooboobobooobooboooboobboobbuoobboooboobbooboon
goobobobobooooooboooobgobobobobooobooobobobobobobooo

12 O0O0O0O0d

0000 V=WwWooooooooooooooooooooo0o0 (linear transformation) 00 00 O
0000 (linear operator*™) 0000 0* 0000000000000 0DO000OO0OODOO0OO*SC
00000000000 00000000D0000000000000000 VODOOOOoOoooooao
L(v)Dopooooooooooooo M,,K)=M,(K)0OODODOODODOOOOOOOOOOOO0OO
000000000000000000000000000V 00000000 (identity map) O Iy 00O
00000 1000000000

0000000000000000 VOOO e= (e, ++,6,) 000000000000000000O0
00000 L(V)2 ¢~ [e] 1¢lel e M,(K)DODODODOODOOOODOOODODDOOODOOOOOO

0000 (e~ eleD (el ¢le]) = [e] = (e¥)le] (o, ¢ € L(V)).

*75 representation 0000000000000 00000000O00O00D0O0O0000O0O0000O0O0O

*76 operator 0000000000000 00D0000D0O00000OO00000OO00D0O00000O00000O0N000o0n
goooooooooOoOOOO0OO0OO0OO0OO00O0O0OoOoOoooobooon

*TO0O000000000000000000000000000000000000000000000000000000000
oooooOooooooooboOonoo

* 0OD0000000000000000000000000000000000000000000000000000000
jdboboooooooooooooooooooooooooooooooooooooooonooooooooooooooo
go0oooO0oooO0o0boO0o0ooOo0O0Oo00b0O000O00O0O000000O0O00O0O000O000O00 OO0
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0 12.1 (00000). 0000000000000000000 VOOOODOO 00000000 ¢0
0000000000000000RO VOOOOOOOOOVOOOOO0O0O0000000000000
0000000§1300) (e1,e0) 00000000

¢(e1) = cosfe; + sinfes, P(ez) = —sinbey + cos bes
O0o00o0O0ooooooooo

sinf  cosf

ro) =0k = (g o).

0 12.1. () n 00000000000 000D00000000000 ¢, : pt) — pt+a) 00D
1,¢,---,t" 00000000 S, 00008, =S, 00000000006,b000000000

O0o0000oboO0o0o0ooO0o0o0ooo0o0oooOb00ooo0ooobOo0oooooOobobooOooonn K[[t]][ll]
O0o0oo0ooooooooooooooa
oo oo oo
St} (L) =23 )t
j=0 k=0 1=0 j+k=l

0000000000000000000000000000000000000000000000000
(ring) 00DOOOOO

O 12.2,. 0000000000

o0

00 12.2. 0000000 K[#)) 00000 ) et* 00000000000000000a#00000
k=0

00000 Y, zxt* 0000000 2g,21,22,--- 000000000000000000

apglog = 1,
apx1 + a1xg =0,

apxra + a1z + a2xy = 0,

0 12.3. 000 AeCOOOODOOOOO000 14+XM4+M2+.-- 00
Q=M A+MFNE 4+ ) =1+ MFNE )1 =-N) =1

00000000000 1+M+M2+...= ;0000000000000
OO00eM=3 1,4t 000000000000eMet =AWt oooono

e’} 1 . [e%S) 1 A 0o 1 .
k=0 =0 n=0

000000000000000000e™ MO MOO00Doon

0000000 K[# 000000 (000) D:K[[H] = K[t O D40 at®) =Y isek + 1ariat?
000000D(fg)=(Df)g+ f(Dg) 0000 (Leibnitz rule)d
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0 12.4. 000000 T:Cf]] »cNoooo D:C[)] - C[[f)] 0000000 (shift operator)
s:cN 5N ((Sa), = ary) DODDD DO

) —X— N

b Js

) —— N

DDDDcDDDDDDDngkmw”fqykh~uf%nDDDDDDDDDDka@wquwlf
i —e,)00T000000000000000dimker(D” — ;D" ' —---— ¢, ) =n 0000
oooscYyccNooooooooooooooooso cNooooooo (6, ,6,.1) D000
0ooo

0 1 0 0
0 0 1
(5607"' aS6n—1):(507"' 757L—1)C’ C= . : . . 0
0 0 ... 0 1
Cn Cp—1 Co C1
0000774, €ker(D" —e; D"t — oo —¢, 1) 000000000000 (T715;)®(0)=d;x (0< 4,k <

n—1)000000 CO ¢c0000000DO0 (companion matrix) 0000
0 12.3. 00 C 00000 det(tl, —C)=t" —¢yt" ' —---—¢, 000000

DDDAeCDDDDD@h:Zk%ﬁeCwWHDDDDDDDDDDDe%%:wﬁwﬂmmmmmm
O0O0C[H 000000000 Q0 Qx(f()=eMf#)D0D0000QN\Q,=Qx4+, 000000 OO
00Qy'=Q-»0000000 Leibnitz rule 000DQy = QxD +AXQ,\0 0000 QADQy' =D — Al
0000000000 OkerD™ = (1,¢,---,#™ Y 00 Oker(D — A)™ = *(1,t,--- ™1y 00000
Dker(D — AI)™ Cker(D—A)™ 00000000 0ker(D—pl)NkerD™ ={0} (n#0)0 Q000
O0ker(D —p/'I)Nker(D—A)™m ={0} A\ #p)00D0O00D—p/'IT (A#p) D ker(D-A)™ 0000
Dooooood

00 12.5. 00000000000 A,---,A, 0000000000000 eMC[t],---,eMtC[t] 000
0000

Proof. 000 eMipy(t) + -+ +eMip.(t) =0 (p;(t) eC[t] 0 m; 00)0D00OD0D-AN 0000000
oooooon

0= (D _ )\11)1+m1 . (D _ )\r71)1+m"’1(€/\1tp1(t) RS e)‘"tpr(t))
= (D =MD" (D = Ap_g) et (1),

0000D—MI,-+,D—=X\11 0 ker(D—\.1)*™ 3 eMtp (1) 000000000000000000
D0000eMp.(t)=000000 O

0 12.6. {MthAe€C,l>0} 0 Ct]] D0DO0DOODO

*79 T intertwines D and S 0O 07T O intertwiner 0 00 000000000000 0000O0O00O0OO0DOOOOOOOO0O
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000 t" —eit" P — =gt —c, O (E—A)™ - (t—X\)™ 000000000
ker(D — A\ 1)™ + -+ + ker(D — \.I)"™ C ker(D" — e, D"t — .. — ¢, 1)

0000000000000000000000000000000000{e%/151<5<r0<I<m,}
0000000 ker(D® —¢, D" —...—¢,]) 0000000000 j00000000000

A1 0

D(eM e Mt oo M (m— D)) = (M eMt, - M (m - 1))

oooooooooon (CIC\IDEIDDEIDEI

K ‘
= (), 159 0sIem
ooo*0o0
MIm, + Ny, 0
(Seq,---,Ses) = (e1,-- ,e,) , Sej=(Sej0, ,5€jm;-1)
0 AeIm, + N,

O0O00ON,, 00000000 mOOOODOOOOO

0 1 0
0
Ny, = .
0 0
000000000 Ccooooooo t"—clt”_1—~-~—cn,1t—cnDDDDDDDDDDDDDDD

cobooooooOoocooboOooooooboooooOooOoOoOoOooOooOooon

0 12.7. »=200000000000000000¢=(a,b) (b#0)0000000000000O0O0O0O

ooo
d2
dat?

000000000000 22-ex—-b000 (00)0000000D0ODOOO0O0

d
Thyo = ATy + by, f(t):a%f(t)—kbf(t)
() 000000000 (a®+4b#0) 00000 A#x 000000000
vk = aA' + Bk, f(t) = ae + Bet.
(i) 00000 (a2+4b=0)0A=a/2,m=20000000a£000000000

zp = (a+BR)AY, f(t) = (a+ Bt)e.

*80 \; =000000e;; =6 (1=0,1,...,m; —1) 000000

o1



0 12.4. () 00000000

ooooooo

0000000000000 O0O000000000000 V=W&---9V,00000VO0000
vOOv=vn+---+v (v, € V;) 00000000000000000000000O0O0OOO0OO0O0
0000000000 V;00 » 0000000 v—v, 00V OO0 V;0000000000000000
V0 VOOoOoOoOooooo000000O0OoO VoD Vooooo E;00000000000000000
E;00Ewv,=v (v;€V;) DODOD0D0O0E?=F, 000000000FE?2=F000000O0O00DOO!
(projection) 000000000000 E,00Eju=0(j#4) 000000000000 EE; =6,E;
000000000v=FEw+--+Ev(veV)0DODODOD0D00E +Ex+--+E,=1,00000

D00V O0D0D000000 {Eh<i<r (000 E;#£0)0 EE;=4,;F, 000000000000
oo {v,=EV}00ODODODOOODOOOO Ey+---+E. =L 000000V=V,0---¢V,00000
000000000000 Iy 00000 (resolution) 0000000000V 000000 I,y OOOO
0000000000 0oDoooooon

0 12.8. 000000000000000000000000001y =B, + E,, E2 = By, E2 = By,
E\E, = B,F, = 000000000000000000FE2 =F, (0000 E2=F,) 00000
E,=Iy,—-E, 000000000000000000000000000000000000000000
00000000000000000

0 12,5. VOOOODOOOOOD FEOODOOO({I-E)V=kerEODODOD

000000000000 00O000O00D0 (00)00D0D0O000O000000D0DDO00D0O0ODODOO
000000oo0oDoooDoo0ooo00oo0oooooooooooD ¢: V-V OOOOD AODOODO
0000000 ¢gv=X 0000000040V OO0OO0OMND 0000000000 DOOOOOOO
00 vw0O000D0OOD0O0D0DO0O0O000 AOODODOOODOO Vy=ker(p—AIl)={veV;dv= v}
gooog

0 12.6. () C[[t) 000000000 DOOOOOOOD ADOOOOOOODODOOOOOOOO CeM
0000

00000000 WCVOO¢DOODO (invariant) 000000 ¢(W)CW OODODOODODODOOOO
000¢O0 WODOODODOLOOD WOOODOUDO (WOLOD WOOOODOUooooouooooooooo

oooo vwwoooooooooooooooooooooooooooooooooooooooooo
gooooooooOoOoOoOoOovVvOOOOOOOOOOOOO0O0OO0O0O0000O0O0O0O000O0ODODO0O00O0
goboooobooooboooooobooooobooOooboooobooooooooooOoooooOoboOooboboOooon
gobodoboooobooooooooobooobooooooooooooooooooooobooOoon
goboooboooooooooboooobooboooobooooooOooOoOooOboOoobooobooOoOoOooOoooo

0 12.7. 0000000000000OO0OO0O0ODOOOOO (§10)0DODODO0OOoDOOO

*l0ooo000000000 E00000DDOOOD0D0O000000000000000000
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00 12.9. 000000 WOOOOOOOOO (er, - ,e,) 000000 VOODO e= (e, - ,6,) O
0000 (m=dmW <n=dimV)00000 ¢(W)cW 0000

[e] " tole] = <61 ;) . A€ My(K), BEM,_n(K).

00000 [ '¢le] e M, (K) 00OOOOO0O000000000000000000{e;,---,en} 000
0000 (e1, - ,en,) 00000000000

00 12.10. 0000 W OOO € =(ep, - ,e,) 0000000W DO ¢ 0000000¢e’ =’A0DO
000 AeM,(K)0ODDODOODODODOODODOO AODODOODODWDO ¢00000ODO

00 12.11. 0000 ¢: V-V OOOOOOOOODODOOOODOOOO V=Wie---@V, 000000
0000000000000 000 ¢o000OD0OO0OO00OODOO

A 0

0 A,
gogjogoooo0oogoooooogooooooggooD o oo oo oo ooo
000000000 000b000000 v, Ooooooooooov o {%}DDDDDDDDDD

0 12.8. 00 0O0O0OOOOOOOODO

0000000000000 ooooooooooooooooooDoOn e,w:V =V 0Ooo
000 (commute) 000000000 (commutative) 000000 ¢y =% 000000

00 12.12. 00 FOODOOOOOOO EVOOOD (I-E)V O ¢0O000000OO0OODOOOOOOOE
0 ¢00000O0OOO

0 12.9. 00O0O0O0OOOO

gooo

gooobooboobobobobobobobobobobobobobobobobUobOob ar,ag,a3 00O
O000000000000000000000 by,bs,bs, c1,c0,c3s 0000000000000 O0OOO
oboo0d z,y,200000000OO0OO0ODOODOOO

aq b1 C1

, T=1| a2 b2 c
a3 by c3

T

n ey

00000000000 TOOOODO (stochasticmatrix) 0000000000000 DOO00OOO0OOOD
O0000o0o0ooo0 ToOoOoU0oOooOoOooooOoOooDoOoooooooo

1 1
(11 1)T=(111) < 'T|[1|=|1
1 1
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0000000 100000000000000000 102000010 70000000000000
000000 =by=c3=0000as=a,bs=b,c;=c0000000000000000000C

0 1-b c bc—b+1 bc—b+1
a 0 1—c¢ ac—c+1] =lac—c+1
1—a b 0 ab—a+1 ab—a+1

0000000 1000000000000000TOO0ODOOOOOD

1 bc—b+1

E = ac—c+1 (1 1 1).
ab+bc+ca—a—-b—c+3 ab—atl

000000000MO00 E2=E00D000000
0000000000000 (b—E)R =kerE={z+y+2=0}0000000

1 0
o, [-1
~1 1
sfsfs)sls
1 1 0 0 1 0
Tl 0 |=—|[0]|+(0-a—-¢)|-1), T|-1]=0b+c=1)10]+(c=-1)-1
-1 -1 1 1 ~1 1
000000000 [7]000000
1 0 1 0
o] r[-1)]=[0 =1 (1__f_ b*ﬂle>
~1 1 1 1 a-e c

gooooooooooooogoo

t+c 1-b—c

__ 42 R N
ate_1 t—l—l—cit +t+ab+bct+ca—a—b—c+1

go0oO0OoO0oO00O0o=ab+bc+ca—a—-b—c+10000000DO0ODOOO
{ab+bc+ca—a—b—c+1;0<a,bc<1}=]0,1]

0000000 e=1000000a=b=c=1000 a=b=c=00000000 ¢=0000000
{0,1} c {a,b,c} OO DODO

000000000000 000000000000DO0000D0000OD0O0N0<e<1/40000
00D00000(-1,-1/2) 0 (-1/2,0)00000000001/4<o<10000000000000
00 100000000000000DO000O0ODO -1/20000000

o= = (@ 1/20-1/2)+ b 1/2(c—1/2)+ (c~1/2(a—1/2) =0

0oooo(1/2,1/2,1/2) 00000 (1,1,1) 00000000000*20000000000000000

(1—;—cbii11>:<32 —%J

*82 4 0 (a,b,c) DO0ODDOOOOO (1/2,1/2,1/2) 0 (+,—,—) 000000000000 154000
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000000000000O00O0O0O00OD -1/200000000000000000000O0O0OOODOO

~-1/2 1
0 —1/2
000000000000000

(0 ) = (O ) poeoe

00000000<e<10OO0O0O0

n

0 1-b c 1 bc—b+1
lim a 0 l—c]| = —— - 3 ac—c+1|(1 1 1).
[t b 0 ab+bc+ca—a—0b—c+ ab—a+1

00000000 Y(z,y,2) 0000000D0000000DOOO0O0O00OOO

bc—b+1
ac—c+1
ab—a+1

1
ab+bc+ca—a—-b—c+3

gobobooooboooboooo
0 12.10. () 00000000000 e=1/2,0=2/900000000000
O 12.11. 000000000000 OO0OOOO0OCOOO0OOO0O0OOOOO0ODOCOO0ObOO0O

Remark 5. DODDOD0OD0O0DD0OD0OD0O0O0O0O0O0O0O0OOOOOOOO (Perron-Frobenius 00 0)O

13 0000

goobodobobooboobbooobooboooboobbooboobboobUoobbooboOoo
gobooooooboobooooboobooooobobooobooboobobooboobooboooo
K=ROOO COODOODOODOOOCOOOOODOOOOD zOOODOOOooOKOOOOOOOO VOoOoOoOo
00 (inner product) 0000000000 v,weV OO (vjw)eKOODODOODODOODODODODDODODODO
gbobooboo

(i) (vlw) D wODOODOO

(i) (v|w) = (w|v).
(ili) (v]v) >0000 (0D00)D(vjo)=000000 v=0000000 (00D0)0

()0 (i) 00000 (vjw) O v 000000003 (conjugately linear) 0000000000
0000000000000 000000 (inner product space) 00000

0 13.1. 000D000000000000000 (i), (i) 003 ) (vw) 0 v 00000000 (i)
(vlp) >0000000000 (v|jw) =—(w) (v,weV)OOOOOO

*83 (v + aw|w) = (v'|w) + @(v|w) 00000000000 (anti-linear) 00000
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